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General Instructions to the Examinees - 

1- ijh{kkFkhZ loZizFke vius iz'u&i= ij ukekad vfuok;Zr% fy[ksaA 

 Candidates must write their Roll Nos. first on the question paper compulsorily. 

2- lHkh iz'u gy djus vfuok;Z gSaA 

 All the questions are compulsory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj&iqfLrdk esa gh fy[ksaA 

 Write the answer to each question in the given answer – book only. 

4- ftu iz'uksa esa vkUrfjd [k.M gSa] mu lHkh ds mÙkj ,d lkFk gh fy[ksaA 

 Answers of the questions with internal division should be written at one place. 

5- iz'u la[;k 1 ls 6 rd ¼cgqfodYih; iz'uksa½ ds mÙkj rkfydk cukdj mÙkj iqfLrdk esa fy[ksaA 

 Draw a table in your answer-book and give answers of question numbers 1 to 6 (M.C.Q’s) 
in it. 

6- lHkh iz'uksa ds vad muds lkeus vafdr gSaA 

 Weightage of the question is written in front of the question. 



1- 1000 dk ?kuewy gSa &         1 

 ¼v½ 1  ¼c½ 10 

 ¼l½ 100  ¼n½ 1000 

 The cube-root of 1000 is -  

 (a)  1  (b)  10 

 (c)  100  (d)  1000 

2- chth; O;atd a
2
&b

2
 ds xq.ku[k.M gSa &       1 

 ¼v½ ¼a
2
&b

2
½   ¼c½ ¼a

2
&b

2
½ ¼a$b½ 

 ¼l½ ¼a$b½ ¼a$b½   ¼n½ ¼a&b½ ¼a$b½ 

 The factors of expression a2-b2 are –        

 (a)  ¼a
2
&b

2
½   (b)  ¼a

2
&b

2
½ ¼a$b½ 

 (c)  ¼a$b½ ¼a$b½   (d)  ¼a&b½ ¼a$b½ 

3- fdlh mÙky cgqHkqt dh Hkqtkvksa dks ,d gh Øe esa c<+kus ij cuus okys lHkh cfg"dks.kksa dk ;ksx 

gksrk gS &         1 

 ¼v½ 360
o
 ¼c½ 270

o
 

 ¼l½ 180
o
 ¼n½ 90

o  

Sum of all the exterior angles formed by increasing the sides of a convex polygon in same 

order is – 
 

 
(a)  360

o
 (b)  270

o
 

 (c)  180
o
 (d)  90

o
 

4- fdlh prqHkqZt esa fod.kksZa dh la[;k gksrh gS &      1 

 ¼v½ 1 ¼c½ 2 

 ¼l½ 3 ¼n½ 4 

 Number of diagonals in a quadrilateral are –  

 (a)  1 (b)  2 

 (c)  3 (d)  4 



5- ?ku esa Qydksa ¼Faces½ dh la[;k gksrh gS &      1 

 ¼v½ 2 ¼c½ 4 

 ¼l½ 6 ¼n½ 8 

 Number of faces in a cube is – 

 (a)  2 (b)  4 

 (c)  6 (d)  8 

6- fdlh funsZ'kkad ry esa fdlh fcUnq dh X&v{k ls yEcor~ nwjh dks dgrs gSa &  1 

 ¼v½ dksfV ¼c½ Hkqt 

 ¼l½ funsZ'kkad ¼n½ prqFkkZa'k 

 Perpendicular distance of a point from X-axis in a coordinate plane is called –  

 (a)  Ordinate (b)  Abscissa 

 (c)  Coordinate (d)  Quadrant 

7- ;fn ¼243½
 x +1

 ¾ ¼243½
&5
 gSa] rks x dk eku Kkr dhft,A         2 

 If, ¼243½
x+1

 ¾ ¼243½
&5 

then find the value of x.       

8- vkBoha d{kk esa v/;;ujr 45 fo|kfFkZ;ksa esa ls 60% fo|kfFkZ;ksa us xf.kr fo"k; esa A xzsM izkIr dhA 

A xzsM izkIr djus okys fo|kfFkZ;ksa dh la[;k Kkr dhft,A 2 

 In class VIII 60% students in Maths obtained grade A out of 45 students. How many 

students got A grade in Maths ? 

9- ljy dhft, &              2 

 (x - 5)2 + 10 x 

 Simplify – 

 (x - 5)2 + 10 x   

10- fdlh cgqQyd esa Qydksa ¼Faces½ dh la[;k 5 ,oa fdukjksa ¼Edges½ dh la[;k 9 gSa] rks 'kh"kksZa 

¼Vertices½ dh la[;k Kkr dhft,A 2 

 In a polyhedron, number of faces is 5 and number of edges is 9. Find the number of 

vertices. 

11- fn, x, n.M vkys[k esa fdlh 'kgj esa LoPNrk vfHk;ku ds vUrxZr fofHkUu enksa esa [kpZ dh xbZ 

jkf'k dks n'kkZ;k x;k gSA                 2 



 

vkys[k dks ns[kdj fuEufyf[kr iz'uksa ds mÙkj fyf[k, &            

 ¼1½ lcls vf/kd jkf'k dkSUk ls en esa O;; dh xbZ vkSj fdruh \ 

 ¼2½ 'kkSpky; fuekZ.k esa fdruh jkf'k O;; dh xbZ\ 

 Given bar graph shows the expenditure on different items under “Swachata Abhiyan” in 

any city.  

 

 Answer the following questions by observing the graph – 

1. On which items, maximum amount is expended and how much ? 

2. How much amount was spent in construction of toilets. 

 12. eku Kkr dhft,&         4 

 3
1

2
+  −1

1

2
 −  −4

1

4
 +   2

2

5
  

 



 

 Evaluate –  

 3
1

2
+  −1

1

2
 −  −4

1

4
 +   2

2

5
  

13. ;fn pkj vadksa dh ,d la[;k 72 x 6, 3 ls foHkkT; gS] rks x ds lHkh eku Kkr dhft,] tgk¡ x ,d  

vad gSA              4 

 If a 4-digit number 72 x 6 is divisible by 3. Find all values of x, where x is a digit. 

14. m/oZfr;ZxE;ke~ lw= dk mi;ksx djrs gq, 415 x 132 dk eku Kkr dhft,A       4 

 Solve 415 x 132 using “Urdhavtirgbhyaam”  sutra –      

vFkok /or 

 /otkad fof/k }kjk 3732 » 42 dks gy dhft,A            4 

 Solve 3732 » 42 by “Dhwajank” Sutra –   

15. mi;qDr loZlfedkvksa dk mi;ksx djrs gq, fuEufyf[kr dk eku Kkr dhft,&       4 

 (i) 1032 (ii) 72 x 68 

 Using suitable identities, evaluate the following – 

 (i) 1032 (ii) 72 x 68 

16- ,d lecgqHkqt dk izR;sd vUr% dks.k 165
o
 gS] rks mlesa Hkqtkvksa dh la[;k Kkr dhft,A 4 

 Find the number of sides of a regular polygon, if its each interior angle is 165o. 

17- ,d leprqHkqZt dk {ks=Qy 360 oxZ lseh gSa ,oa fod.kksZa ls ,d dh yEckbZ 20 lseh- gS] rks nwljs 

fod.kZ dh yEckbZ Kkr dhft,A 4 

 The area of rhombus is 360 cm2. One of its diagonal is 20 cm, then find the length of other 

diagonal. 

18- fuEufyf[kr O;atdksa ds xq.ku[k.M dhft, & 

 ¼dksbZ nks Hkkx gy dhft,½ 4 

(i) 5pq + 5p + 3q2 + 3q 

(ii) a2 - 5a + 6 

(iii) p4 - 81 

 Factorise the following expressions : [solve any two] 

(i) 5pq + 5p + 3q2 + 3q 

(ii) a2 - 5a + 6 



(iii) p4 - 81 

19- ;fn 11 ds rhu yxkrkj xq.ktksa dk ;ksx 363 gS] rks mUgsa Kkr dhft,A 4  

 Find three consecutive multiples of 11, whose sum is 363. 

20- fn, x, lekUrj prqHkqZt PQRS esa dks.k x ,oa y ds eku Kkr dhft,A 

 

 dks.kksa dk eku Kkr djus esa iz;ksx fd, x, dksbZ nks xq.k/keZ ¼Properties½ Hkh fyf[k,A 4 

 Find the value of x and y in given parallelogram PQRS.  

 

 Also write any two properties used to find the value of angles. 

21- fn, x, ikbZ&pkVZ esa okgu pkydksa dh fofHkUu xyfr;ksa ls gksus okyh nq?kZVukvksa dks n'kkZ;k x;k 

gSaaA             4 

 

  ikbZ&pkVZ ds vk/kkj ij fuEufyf[kr iz'uksa ds mÙkj nhft, &  

 ¼i½ lcls vf/kd nq?kZVuk,¡ fdl xyrh ls gqbZ \ 
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 ¼ii½ vpkud czsd yxkus vkSj lM+d dh [kjkc fLFkfr ds dkj.k dqy fdrus izfr'kr nq?kZVuk,¡ gqbZ \ 

 The following pie-chart shows the various mistakes of automobile drivers.  

 

 On the basis of pie-chart, answer the following questions : 

 (i) Due to which mistake, maximum accident tookplace?  

    (ii) How many accidents occur due to sudden apply of breakes and bad condition of 

road collectively ? 

22. ik;y C;wVh ikyZj [kksyus ds fy, 20]000 #i;s dk _.k fdlh jk"Vªh;d`r cSad ls ysrh gSA ;fn  

cSad 14% okf"kZd nj ls pØof̀) C;kt ysrk gS vkSj C;kt okf"kZd la;ksftr djrk gS] rks Kkr 

dhft, fd 3 o"kZ ckn _.k pqdrk djus ds fy, ik;y dks dqy fdruh jkf'k cSad dks ykSVkuh 

iM+sxhA              6 

 Payal took loan of Rs. 20,000 for parlor from a nationalized Bank. How much amount will 

 she repay after 3 years, if annual rate of interest is 14% and interest is compounded 

 annually ? 

vFkok@or 

 ,d O;kikjh us 14000 #i;s dk lkeku [kjhnkA mlus lkeku dks ykus esa 50 #i;s fdjk;k vkSj  

150 #i;s etnwjh ds [kpZ fd,A og 5% ykHk dekus ds fy, ml lkeku dks fdrus #i;s esa 

cspsxk\ Kkr dhft,A               6 

A businessman purchased goods for Rs. 14,000. He paid Rs. 50 for freight and  

Rs. 150 for wages. To earn 5% profit, at what price he should sell goods ? 

23. ,d prqHkqZt ABCD dh jpuk dhft,] ftlesa Hkqtk AB = 4.5 lseh] BC = 5.5 lseh] CD = 4 lseh]  

AD = 6 lseh ,oa fod.kZ AC = 7 lseh gSA            6 

Construct a quadrilateral ABCD whose sides are AB = 4.5 cm, BC = 5.5 cm, CD = 4 cm,  

AD = 6 cm and diagonal AC = 7 cm. 

vFkok@or 



 ,d vk;r dh jpuk dhft,] ftldh vklUu Hkqtk,¡ 6 lseh vkSj 4 lseh gSaA       6 

 Construct a rectangle whose adjacent sides are 6 cm and 4 cm. 

24. ,d csyu dh f=T;k 7 lseh vkSj lEiw.kZ i`"Bh; {ks=QYk 968 oxZ lseh gS] rks csyu dh Å¡pkbZ Kkr  

dhft,A  𝜋 =  
22

7
                6 

Radius and total surface area of a cylinder are 7 cm and 968 cm2 respectively. Find its  

height.  𝜋 =  
22

7
  

vFkok@or 

 nh xbZ vkdf̀r dk {ks=QYk Kkr dhft, A ¼lHkh eki ehVj esa gSaA½         6 
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 Find the area of the given figure (All measurements are in metres). 
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25. uhps rkfydk esa fn, x, le; vkSj nwjh ds e/; ,d jSf[kd vkys[k [khafp,A     6 

le; ¼?k.Vs esa½ 3 6 9 12 15 

nwjh ¼fdeh esa½ 15 30 45 60 75 

 

 Draw a linear graph between time and distance shown in the following table. 

Time (hrs.) 3 6 9 12 15 

Distance (in km) 15 30 45 60 75 

 

vFkok@ Or 

  



nh xbZ rkfydk ds vuqlkj tek/ku vkSj lk/kkj.k C;kt ds e/; jSf[kd vkys[k [khafp,A      6 

tek/ku ¼#i;s esa½ 2000 4000 6000 8000 10000 

lk/kkj.k C;kt ¼#i;s esa½ 20 40 60 80 100 

 

 Draw a linear graph between deposited money and interest earned given in following 

 table. 

Deposited money (in Rs.) 2000 4000 6000 8000 10000 

Interest earned (in Rs.) 20 40 60 80 100 

 


